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ECONOMICS
PN ]
(318)
Time : 3 Hours | [ Maximum Marks : 100
a3 T | [ qUTiek : 100
Note : (i) This Question Booklet consists of two Sections, viz., ‘A’ and B’.

(i) All questions from Section ‘A’ are to be attempted.

(iii) Section B’ has got more than one option. Candidates are required to
attempt questions from one option only.

Fdor: () 39 TA-gfere § |1 @ve e ‘o qun wve o
(i) w@ug ‘e & At G FI TA BT B
(i) WU ‘T HUF U Mtk fohed B1 wemfat 1 Faet Uk forehew & & U % WA B

SECTION-A
Qus-3H
1. Give the meaning of fixed investment. 2
3= e &1 37 FaRy)
2. Distinguish between primary data and secondary data. 2

merfies 2Afel qon fediaes etfwel 0 9e Shifsm)

3. National income is Rs 5,000 crores and domestic income is Rs 4,800 crores.
Calculate net factor income from abroad. 2

T 3™ 5,000 FA To 2 I M A™ 4,800 HE %o 2| foewn & o wrem am

EdReCTSERCAIE gl
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4. What are real flows? 2
AR JaTE 1 Bd &7
5. What is meant by land in economics? 2

oo | 9 e @ o §?

6. A firm’s value of output is Rs 20,000. Its opening stock and closing stock are
Rs 3,000 and Rs 1,000 respectively. Calculate its sale. 2

TF FH %k IAEA H Yed 20,000 Fo Tl T URMMNE Wik AR AW wiE HA:
3,000 %o 3f 1,000 %o &l 3@ehl forshl =1 ufisher shifsm|

7. State the law of demand. 2

i 1 g TqrEu)

8. Is Indian economy a developing economy? Give ‘two reasons in support of your
answer. 2

1 AT s1efeueeen usw fammsfia srdegasen €7 34 I & gHedT # |t o dfSu|

9. From the following data, calculate closing stock : 2

Ffcfga stferel @ sif<w w2 1 afehom MY

Rs (%9)
(i)  Stock investment (% f3amr) (-) 7,000
(i) Opening stock (R i ) 8,000
10. What does an outward shift of production possibility curve show? 2

IcqTE GHTEAT 95 Sl e ohl TR Rawer o swiian &7

11. Describe any two main features of Indian economic policy before 1991. S

199T O g WA STk AT T fohral ar G (oINS ol a0 ehIfeTa]
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12. From the following frequency distribution, prepare a ‘more than’ cumulative

frequency distribution : S
frefafea smaft de7 @ v @ v’ Geft emafy st s
Class Frequency
it gt
10-20 12
20-30 15
3040 14
40-50 13
50-60 11
13. Explain the meaning and four strategies of sustainable development. S
gt foehm 1 219 IR gEeh fou oA 9 areft wR gRet wmemsu
14. Explain the need for regulating money supply. S
T2 9 il FEta e A sTavEeRal i Fre i |
15. Complete the following table : S

ffafaa @iferent =1 9 i -
Output Total Cost

(Units) (Rs)
I (SIEAT) T A (%o)

0 24

1 40

2 48

3 60

4 88

5 124

Marginal Cost Average Variable Cost

(Rs)
H11=d T (%o)

(Rs)
sitga aRadt e (Fo)
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16. List the sources of revenue receipts and capital receipts of government budget. 8

TR ae I U5 Wi SR gSra wifeRn ot gEt AR

17. Explain, in brief, any four objectives of economic planning in India. 8

aRd § 3nfde Feem & el = m 3eval it 9ew o e Fifsu|

18. Calculate National Income from the following data : 8

(Rs in crores)

(i) Compensation of employees 700
(ii) Rent 200
(iii) Interest 150
(iv) Profit 350
(v) Net indirect taxes 100
(vi) Net factor income from abroad (-) 50
(vi) Mixed income 250

Frefafaa el @ ¥ @ 1 diehen FifST -

(%o HUS H)
()  FH=TE w1 R 700
(i) TR 200
(i) <A 150
(iv) < 350
(v) Taa TaFg-+ 100
(vi) Toeetl | Faa wem s () 50
(i fafra s 750
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19. Explain the changes that take place when there is excess supply of a
commodity.

ot g 1 erfafr emufd @9 @ s # B9 9 afadal B =men fif)

20. From the following data, calculate arithmetic mean by ‘step deviation method’

frafeftaa tfeel @ ‘ue fomem fafer’ gro sfenford mre @61 aftehem il

Class Frequency
it gt
0-10 10
1020 12
20-30 14
30-40 4
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SECTION-B
Qus—d

OPTION-I
faereu—1

( Role of Agriculture and Industry in India’s Economic Development )

( 9Ra & oTTfieR ToreRTe @ I 3R e Y SffvenT )

21. Describe any two roles of agriculture in Indian economy. S

IR teferaeen | HiY ol fohel &1 ffHerist =1 aue i)

22. How do industries help in exploiting natural resources? Explain with the help
of suitable example. 5

STNT TThfeeh HETEAT 1 foEed w3 § fRd UeR g B 27 SUT 3Rl i derEdl
Y THEE |

23. How is agricultural sector a source of funds for-industrial sector? Explain. S

enfies & % fow FfY @ fFe yeR gm @1 |iace? auEs |

OPTION-II
fFrca—11

( Population and Economic Development )

( ST 3R erfeler forerTa )

21. Describe the trends of birthrate and death rate in India since 1951. 5
IRd ¥ a9 1951 ¥ SH-3 IR JF- hl Ygraai 1 avie it |

22. Explain the effects of growth rate of population on human resources. S

SHEE ghg & % HHd GE1EE] W UEl i = i

23. Explain the reasons for slow growth rate of population in underdeveloped
economies. S

Feufaeritd Aferaeensti § SeE gty @ % iU g9 % HR Al AT i

* * k
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